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QUESTION 1

Your database initialization parameter file has the following entry: 

SEC_MAX_FAILZD_LOGIN_ATTEMPTS=3 

Which statement is true regarding this setting? 

A. It drops the connection after the specified number of login attempts fail for any user. 

B. It is enforced only if the password profile is enabled for the user. 

C. It locks the user account after the specified number of attempts. 

D. It drops the connection after the specified number of login attempts fail only for users who have the
SYSDBAprivilege. 

Correct Answer: A 

 

QUESTION 2

View the Exhibit and examine the parameter settings in your server-side parameter file (SPFILE). When you tried to
start the database instance, you received the following error: 

SQL> startup ORA-00824: cannot set SGA_TARGET or MEMORY_TARGET due to existing internal settings, see alert
log for more information 

Why did the instance fail to start? 

Exhibit: A. Because the PGA_AGGREGATE_TARGET parameter is not set 
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B. Because the STATISTICS_LEVEL parameter is set to BASIC 

C. Because MEMORY_TARGET and MEMORY_MAX_TARGET cannot be equal 

D. Because both the SGA_TARGET and MEMORY_TARGET parameters are set. 

Correct Answer: B 

 

QUESTION 3

Identify two advantages of using a recovery catalog instead of the control file of the target database in Recovery
Manager (RMAN). 

A. You can use RMAN stored scripts. 

B. Recovery is faster if data is stored in catalog in addition to the control file. 

C. You can store backup information of all registered databases in one place. 

D. Database backups are automatically deleted when they are older than the specified time period. 

Correct Answer: AC 

 

QUESTION 4

Which statements describe the capabilities of the DBMS_NETWORK_ACL_ADMIN package? (Choose all that apply.) 
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A. It can be used to allow the access privilege settings for users but not roles. 

B. It can be used to allow the access privilege settings for users as well as roles. 

C. It can be used to control the time interval for which the access privilege is available to a user. 

D. It can be used to selectively restrict the access for each user in a database to different host computers. 

E. It can be used to selectively restrict a user\\'s access to different applications in a specific host computer. 

Correct Answer: BCD 

 

QUESTION 5

You are managing an Oracle Database 11g database. You configured the database to run in ARCHIVELOG mode.
Which two statements are true in this scenario? 

A. You must shut down the database instance to perform the backups. 

B. You must configure the flash recovery area (fast recovery area) for the database. 

C. You can perform complete database backups without closing the database. 

D. All the previous closed database backups including control files become invalid after you configure the database to
ARCHIVELOG mode. 

Correct Answer: CD 
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